2022 FRRFFHANFRBRENS
WFESEER

.C 2.D 3.B 4. A 5C 6B 7.D 8B 9.D 10.A 11.C
12.B #R8:% v 5o REE R y =k +0,3E(40,120), (50, 1000fL A, 15
j40/e+b 120 fk=—2
A .
1506+6=100, Ib—zoo
S W= (x—40) y=(2—40) (—22+200) = —2(x—70)*+1800.
20 P AR L S 2 2<<70 By B 2 BB RGO,

y=—2x2+200.

40260, e =60 B} W,..=—2X (60—70)2+1800=1600(7T). il 1 B.

13.2mGn—3) 14.41 15.9 16.130° 17.k<<1 18.2 1% 14

19, f#  (DINE  AAIBICy B AR, veeeereere e 34
O WE S, AAIBoCy BIRIIISR.  eerrreeee e 6 43
B
AT ¢
B, O ¢, B ¥
A o
20. figt - (1) CERPAR LR D RSB 51240 F -
st ) %#1ﬂ‘ G1 GZ GI% Bl Bg
R A
Gy (G2,G) | (GG | (Bi,G) (B2,Gy)
G (G1,Gy) (G3,Gy) | (B1,Gy) (B;,Gy)
Gy (Gi.Gy) | (GsGy) (Bi,Gy) (B;.G3)
B, (G1,B)) | (Gy,B) | (G3,BD) (B:.B))
Bg (G] 9B2) (G_) ’Bz) ((}3 982) (B] 9B2)
HZEHNIEA 20 FPEETTRETELE TR, covvvrrerre 4 45
(2)HFRA Gy By RN BLEFHA (G BO L (B Go 3k 2 TR BTl G, By b9 1]
N 3 A pr :ézi ........................................................................... AN
i IO BER P=55 =1 74
21 (DY b=a+2 W, FHFEH ax’ +(@+2)2F1=0, corererrmrerneenneieeeen. 14y
SA=(a+2) —daX1=a’tdat4—4a=a? F 4750, coeererririiiiiiiiiiiii 34
S b=a+2 Bt R TR AR EEAR. o 4 4y

(DY b=2 W, JF N ax®+22x+1=0.

(BF-2ZEE F1]

il
%
5

« 23-CZ82c -



CE TR AR SRR S A=22 — da X 1=0 5 a=1, «ooeeeeeeeees
SETFER 22 F 20 1=0 , 48 2y =y =1, creeereeeeeeeeererrneiii

22, i s (DA AGn. ICA y:—%ﬁz,ﬁ—%mﬂzg,

ﬁgﬁ%‘; 7)1:—2 ...A(—Z’S). ...............................................................

B R A A X y** A2 D0A TG 2:3»%’/% k=—F6,

XXEH?)’%EI%HE:EWV y:—%. .........................................................
(2)/?\ y:flx_kzzo,%gﬁ% =4, .'.B(4,0). ....................................

:-SAAMB:%XSX \a*4\ :97

ﬁﬁ:ﬁ%‘" a1:*2,az:10,

M AR FR A (—2,0) TR (10,0), reverrreremeeeeeee

23.%’# (DUERH I, i3z OC.
**CF | AD, .. /CED=90".

TAB=AD, S S BT DD, sveeeeeee et

“'OB=0C, .. /B=_/0CB,
~./D=_,0CB,OC//AD,
./ OCE=_/CED=90°,

s OCLCF .................................................................................

CF;EG)() E"Jfﬂ% .....................................................................

(), E# AC.

“"CF | AD./D=30°.CE=/3,

.'.CDZZCEZZ\/? .........................................................
""AB NEH#..WAC | BD.

X" AB=AD,..BC=DC=2/3,/B=_/D=30°,

S/ AOC=2,/B=60".

¥ Rt/AABC ¥, /B=30°,..AB=2AC.

¥ AC=x,0l| AB=2x.

/A BE R 15 AB*=AC*+BC?,

B 2x)? =224+ (2V3) 2 fifiF 2 =2 B x=—2(& %),

SAC=2, S AB=A, SuOA T2, e

COA=2. S AOC=60°, 5 1o =00 X X2

(8% - 2ZFE $F2(#370)]

e,
180° 3%

« 23-CZ82c -



24, . (D" S B@3,0) 55 A BT HZL =2 R,
S E A FAREFR A (1,0),  seeereeneten ettt e 14y
A AL,0), BB ORA y=2"Fba+c, 1%

1+b+c=0 b=—4
{9+31)+c—o’%ﬁlc—3 ’
ST RRIT RN vy =2t —Aa b3, e 345
(2)°" 8 AB RT HZ x =2 XK,
SO & BC A HZ 2 =2 TRl P AACP WK /).
% 2=0,1%3 y=3,..C(0,3).
BHZ BC R y=kx+n.8A B(3,0),C(0,3),15

3k+n=0 L [k=—1
N e )
n=3 17223

SOHEE BCIMTEN N y=— 213, correermmmmeee

M =20, y=—2+3=1,."P(2,1),

SOMAACP BRI F/NEE s 5P BJABRFR A (2, 1), ceeeeenemeeeeeniiiiiini 6 4
(3)24 m~+2<2 W}, B m<<0, fLi Y4 a=m—+2 W}, vy B &H/IMH.,
Flm=+2)2—4(m+2)+3=3. 18 m=—2 80 m=2(& ) ; -oereerrerrreninn. 745
2 om=2 W WY e=m i,y 5/ ME

Bl m? —4Am+3=3. 8 m=4 8L m=0(&Z2); rerrerrrri 8o
L 0<Tm<"2 I, W2 2=2 I, y HE/MEN 22 —4X2+3=— 1, AMFERE, & L.

2 R W SR ST 0 (MR — 2 B 4. woeeeeeeeeeeereeer e et 9 4y

B
ik
W
ot
i)
S
W
-
o

« 23-CZ82c -



